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1
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2.2 Ve>0,3C<0,suppu(6y0) < C forS={0€0,||0—0y|| > ¢}
Bes

o wectino= [ [ vo(42) s e [ [

RE1LY, maxg(l, w)? < C.
w

=fnlf;(gu..u)—

v() =0 & ghw)=9gQ)
Lemma2 Mo ZhlE A = 1, DEELMERSELN.
A — 2| > &, Tl&, v(1) M0 TIFHEWR/PMDEELD.

1A — 20| > &

@ 2(\o) <log(2)* +4(0) (1- (2)*)
g e, DEIGZRET HHELT, FEHA.




s o—mis

B=0XMDTXD)) XWy HOT,
Var(B(Mo)) = 02(X (M) X (o))~ ASEHZAIEELL.

Amin (X (X0)T X (X)) > Amin(XT X))/ Amax (S(X0)S (X))

THAEITEFEITNIE, 1, SA)SA)DDERTHSEE, RESKYLNZS.




7m0

MY THRIDMTERVEEO—EE DS

WBWAERFEHDELLH, BAENSEBATEEUL.




